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L. Answer the following questions in about 150 words each: 10x5=50
) How had Enlighenment contributed to the emergence of sociokgy?
'} ‘Power and authority go together’ Examine.

) Discuss the role of variables in social science research,

) In what way biographies coukd be used to study social life?
) Is the nation same as the state? Discuss.

Z, (a) Which research technique would be most suitable for the study of consumer behaviour and its soc*
correlates? Exphin, (20 marks)

)) 1dentify the simikrities and differences between Marx’s theory of ‘Alienation’ from that of Durkhei;-
theory of ‘Anomie’. (20 marks)

z) How could one use Merton's concept of deviance to understand the ‘cow vigilante and violence’ in Indi

(10 marks)
3. {a) What do you understand by gender socialization? How does it shape male and female identity?
(20 marks)
b) "According to Max Weber, ‘class’'status’ and ‘party’ are the different dimensions of power”. Discuss.
(20 marks)
c) Critically discuss the functionalist tradition in Sociclogy. (10 marks)

4.(a) What do you mean by social mobility? Discuss the major sources and causes of mobility.

(20 marks)
b) “Non-positivistic methodology is essential for understanding human behaviour”. Discuss,
(20 marks)
) How can we use reference group theory to understand fashion in society? (10 marks)

Q5. Answer the following questions in about 150 words each: 10x5=50

(a) Examine the relevance of Parsonian Social System in the present society.

(b) What are the distinctive features of social organization of work in pre-industrial society? How is |
different from industrial society?

(c) Distinguish between people being socially excluded and people excluding themselves socially ir
socicties.

(d) Distinguish between Political Parties and Pressure groups.
(e) Discuss the conceptual linkages between Citizenship and Civil Society.

Q 6 .(a) How formal and informal organisation of work influence labour’s mobility ? Expliin with examples,

(20 marks)

(b) Critically examine the functionalist views on the institution of family, How do those help us in .
understanding family in the present times? (20 marks)
(c) Describe the importance of lineage and descent in kinship and family. (10 Marks)

9/(:;] "Globalization involves deterritorialization.”Examine with reference to the nation-state,

(20 marks)

(b} Education is often viewed as an agency of social change. However in reality it could also reinforce

inequalities and conservatism. Discuss with suitable examples,

’ ! _ 20 marks

(c) Is religion antithetical to science’? Comment, EIO Marks}

Q8. {a) Examine science and technology as agents of social change with examples and sociological perspective
, o _ _ (20 marks)

(b) Gl?bahzatmn has pushed the labor into informal organization of work” Substantiate your answer with
suitable examples. (20 marks)
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‘ Evaluative indicators:

Excellent Good Satifactory Average Poor

O]
[

(i) Contextual Introduction

| (i) Contextual Content Prioritization

Al (iiiy Alignment- Articulation- flow

iv) Novelty-Examples & Application
(v) Cross Fertilization & Substantiation
(vi) Visibility of Facts & Concepts

(vii) Language Competency

(viil) Gontextual Conclusion

(ix) Legibility-Readability
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